

			Vendor Ranking		Page 1 of 1
Letting:	04241206	December 06, 2024 10:30 AM	Call Order: 004	Contract:	E4X69-R0
District:	District 4		Counties: DIST/ST-WIDE	Fed Aid No	: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	45049467201 (*)
Contract Desc:					

Contract Desc: TREASURE COAST SUPPLEMENTAL CREW LABOR - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Winning bid	\$660,633.20	100.00%
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$1,259,182.00	190.60%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	01/07/25	BEGIN TIME:	10:30 AM
	END DATE:	01/10/25	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 500,000.00 and not the contractor's bid total.



Page 1 of 6

Letting:	04241206	December 06, 2024	Call Order:	004	Contract: E4X69-R0
District:	District 4		Counties:	DIST/ST-WIDE	Fed Aid No: N/A
Contract Time:	365 CALENE	DAR DAYS			Project(s): 45049467201 (*)

### Contract Descr: TREASURE COAST SUPPLEMENTAL CREW LABOR - ROUTINE MAINTENANCE

The work under this Contract consists of providing all labor, equipment, materials, and incidentals necessary to perform Miscellaneous Routine Maintenance work, sidewalk concrete repairs, pressure cleaning, tree trimming/removal, herbicide, litter and debris removal on state roads in Martin, St. Lucie and Indian River Counties.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$500,000.00 and not the contractor s bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

#### PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2024-25 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Item Description	Quantity Units	(1) SUPREME CONSTRUCT		(2) MIDWI CONSTRUC			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (/	ASPHALT REF	PAIR (MECHANICA	AL) (TN				
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE	700.000 SY	8.00000	5,600.00	80.00000	56,000.00		
0010 0120 1 REGULAR EXCAVATION	500.000 CY	40.00000	20,000.00	100.00000	50,000.00		
0015 0120 9 1 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH UP TO	3,990.000 LF 15'	10.00000	39,900.00	18.00000	71,820.00		
0020 0120 9 2 DITCH CLEARING OF LARGE VEGETATION, DITCH WIDTH 15-30'	3,000.000 LF	12.00000	36,000.00	22.00000	66,000.00		
0025 0339 1 MISCELLANEOUS ASPHALT PAVEME	48.000 NT TN	347.00000	16,656.00	2,000.00000	96,000.00		



Page 2 of 6

Letting: 04	241206 🛛	ecember 06, 2	2024 <b>Ca</b> l	<b>I Order:</b> 004		Contract:	E4X69-R0	
Line No / Item ID Item Description	Alternate	Quantity Units	(1) SUPREME CONSTRUC		(2) MIDWI CONSTRUC			
() indicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (	ASPHALT REP	PAIR (MECHANIC	AL) (TN				
0030 0400143 CLEANING & COATING SURFACE, CLASS 5	G CONCRETE	19,000.000 SF	0.74000	14,060.00	3.00000	57,000.00		
0035 0400145 CLEANING CONCRET	E SURFACE	4,000.000 SF	0.48000	1,920.00	2.00000	8,000.00		
0040 0430991 1 MITERED END SECT, MAINTENANCE USE C		100.000 B- CY	987.00000	98,700.00	1,000.00000	100,000.00		
0045 0520 1 10 CONCRETE CURB & C	GUTTER, TYPE	200.000 F LF	39.00000	7,800.00	100.00000	20,000.00		
0050 0520 2 4 CONCRETE CURB, TY	PE D	150.000 LF	51.00000	7,650.00	100.00000	15,000.00		
0055 0522 1 CONCRETE SIDEWAL DRIVEWAYS, 4" THICH		500.000 SY	62.00000	31,000.00	125.00000	62,500.00		
0060 0522 2 CONCRETE SIDEWAL DRIVEWAYS, 6" THICH		200.000 SY	77.00000	15,400.00	150.00000	30,000.00		
0065 0527 2 DETECTABLE WARNI	NGS	450.000 SF	31.00000	13,950.00	30.00000	13,500.00		
0070 0705 10 1 OBJECT MARKER, TY	PE 1	100.000 EA	80.00000	8,000.00	250.00000	25,000.00		



Page 3 of 6

Letting: 04241206	December 06, 2	2024 <b>Ca</b> l	<b>Order:</b> 004		Contract:	E4X69-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) SUPREME CONSTRUC		(2) MIDWI CONSTRUC			
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0075 0705 10 2 OBJECT MARKER, TYPE 2	100.000 EA	80.00000	8,000.00	250.00000	25,000.00		
0080 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR	100.000 EA	100.00000	10,000.00	250.00000	25,000.00		
0085 0705 11 2 DELINEATOR, NON-FLEXIBLE	100.000 EA	100.00000	10,000.00	350.00000	35,000.00		
0090 E106 1 3 DEBRIS REMOVAL, ROADWAY SHOULDER AND MEDIAN PATROL	250.000 GM	30.00000	7,500.00	65.00000	16,250.00		
0095 E107 1 1 LITTER REMOVAL	500.000 AC	14.17000	7,085.00	50.00000	25,000.00		
0100 E107 2 2 MOWING (SLOPE)	40.000 AC	75.00000	3,000.00	500.00000	20,000.00		
0105 E107 2 3 MOWING (INTERMEDIATE MACHINI	50.000 E) AC	57.50000	2,875.00	200.00000	10,000.00		
0110 E107 2 4 MOWING (SMALL MACHINE)	30.000 AC	55.00000	1,650.00	250.00000	7,500.00		
0115 E107 2 5 WEED CONTROL, MANUAL	200.000 AC	270.50000	54,100.00	500.00000	100,000.00		



Page 4 of 6

Letting: 04241206	December 06,	2024 <b>Cal</b>	l Order: 004		Contract:	E4X69-R0	
Line No / Item ID Alterr Item Description	ate Quantity Units	(1) SUPREME CONSTRUC		(2) MIDW CONSTRUC			
( ) indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0120 E110 2 CLEARING & GRUBBING	18.000 AC	5,225.00000	94,050.00	3,500.00000	63,000.00		
0125 E110 32 2 EDGING	100.000 MI	35.00000	3,500.00	150.00000	15,000.00		
0130 E120 10 1 CLEAN AND RESHAPE DITCH (SPREAD)	1,394.000 LF	4.00000	5,576.00	8.00000	11,152.00		
0135 E120 10 2 CLEAN AND RESHAPE DITCH(	2,000.000 HAUL) LF	7.81000	15,620.00	10.00000	20,000.00		
0140 E563 99 GRAFFITI REMOVAL	2,470.000 SF	0.81000	2,000.70	8.00000	19,760.00		
0145 E575 1 SODDING	2,000.000 SY	4.50000	9,000.00	6.00000	12,000.00		
0150 E575 1 4 SODDING, ST AUGUSTINE	2,000.000 SY	6.50000	13,000.00	16.00000	32,000.00		
0155 E580332 20 TREE REMOVAL (LESS THAN 4"	200.000 ) EA	45.00000	9,000.00	50.00000	10,000.00		
0160 E580332 21 TREE REMOVAL (4" TO 12")	200.000 EA	135.00000	27,000.00	300.00000	60,000.00		



Page 5 of 6

Letting: 0424	1206 December	06, 2024	Call Order: 004		Contract:	E4X69-R0	
Line No / Item ID Item Description	Alternate Quant Unite	CONSTR	ME ROOFING & UCTION, INC.	(2) MIDW CONSTRUC			
( ) indicates item is bid as	Lump Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 (ASPHALT	REPAIR (MECHAN	IICAL) (TN				
0165 E580332 97 FREE TRIMMING	100.0	000 87.5000 EA	00 8,750.00	140.00000	14,000.00		
0170 E580332 99 FREE AND BRUSH REMO	19.0 DVAL	2,099.5000 AC	00 39,890.50	3,500.00000	66,500.00		
)175 E580337 3 HERBICIDE (SPOT APPL SF)	400.0 ICATION < 100	000 31.0000 SF	00 12,400.00	3.00000	1,200.00		
0001 ASPHALT (MECHANIC)	REPAIR Section Tota	ls:	\$660,633.20		\$1,259,182.00		

Contract Grand Totals:

\$660,633.20

\$1,259,182.00



		Tabulation of Bids						
Letting:	04241206	December 06, 2024	Call Order: 004	Contract:	E4X69-R0			
			o file a protest within the time pres					
			da Statutes, or failure to post the k within the time allowed for filing a	<b>,</b>				

a waiver of proceedings under chapter 120, Florida Statutes.